@D ;%:% quatro decimais, ordem das opera¢des com
& D, colchetes

Nome: Encontro: Data: Pontuagao:
4+2+4,5)x3,7= (12+2-6,7)x2,9=
2,7+2,43,2+6,4)= 4,8—4,2(4,6+5,3)=
2,6+2,6(2—6,3)= (4,3+3,8)x4,8+3,5=
(18+3+4,9)x3,3 = 12(5,7+6,7)+3 =
(4,2+5,8)x5,6—-5,1= (18+6—2,9)x6,6 =
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@D ;%:% quatro decimais, ordem das opera¢des com
& D, colchetes

Nome: Encontro: Data: Pontuagao:
4+2+4,5)%x3,7=24.05 (12+2-6,7) x2,9=-2.03
2,7+2,4(3,2+6,4)=25.74 4,8—4,2(4,6 +5,3)=—-36.78
2,6+2,6(2—6,3)=—8.58 (4,3+3,8)x4,8+3,5=42.38
(18 +3+4,9)x3,3 =3597 12(5,7+6,7)+3=49.6
(4,2+5,8)x5,6—5,1=509 (18+6—-2,9)x6,6 =0.66
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